EARAZROREIERT — 2 N—XBISY —F 201257848 (k) 1EIERE2H

> %3t C3= EREE R
[A&4£] 1% :200,000" ~ 2#%:36,000” ~ 337%&:18,000 ™ . 43&:10,000 57 :6,000 H
B ®RBE mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
. NS L e : 00— — KIFER (Fhi)
1M s TJIH-—ZE—> 4 6 7% 1.(3_1).9 2-2-2-1 | 39.5 2 (4_474) o
b1 =29 BivLy bIvY ZHAENKS
— s e N KIIEE : -1-1- — RrfR (FiH)
> 3 —krEONL—— 4 5 al 1.(322).2 1-1-1-1 | 40.0 1 (4+310) ﬁﬁﬂaif
L:a4 %> v ML B:IALE B TRIEREAS
3lglg|¥>¥Ty>I>vzI f 7 | hiEe 122 5393 |305| — | 3 | a2 WCIEE ()
R:igv2vy3ay BT —IrT1ll 0| Homs
= 5 it 6 | BEHT 1:32.2 7-7-7-5 | 38.6| — 9 436 | EBAAEA (FE)
N > PIRES 2520 (76 Coy |8 1-guyk
R:vUIPN—F B:FLS—H— B O 4535
FEETL 3. 54— 4| - BchiEk (B
507]7 A0y & 4 3 o 1(322)5 4-5-4-4 | 39.4 4 ;1:135) k%%s&
L NYToR=97 BRTFARLTIZ KR
n— 9 FRERE :32. —-3-5- . - FHED (Fh)
6 4| 7F1a-% i 6 o5 1(322)8 3-3-5-6 | 39.7 5 ?g; ons
R:AATFEHYZ B:O—XTAXR ME &
N N N A — . oo _ IWR#=E (k)
255l E—E=TIAY 7 B 1.(3133.0 6-6-6-7 | 39.6 8 (5_:8) LEES
RiZNRY w4 =Y B AR — IS
. = L — . —_0-Q_t _ RFHAE (FEH)
glglg|7VzEILTY 4 3 A ee 1.(343).7 9-9-8-8 |38.9 6 ;1_267) BT
RR=—NFRHPLF— BT FLAI NBBS
P w s 7 | dLEEEL 1:34.7 8-8-9-9 [39.7| — 7 467 | WTi®iE ()
91111 ITJLTIL—=Y 54.0 (6) (-3) EINCES
Rv—NFAY>F— BILZTLIA—> KRS
® I—F—@EBIERL
15l=2F= 3,6,4,7,9,5,2,1,8
Ao=5"= 3,6,(4,9),7,5,2,1,8
T =35r= 3,6,9,7,4,5,2,8,1
41—F— (3,6),9,7,2,4,5,8,1
[ RN
B 6 580 794K 3-6 160 & 3-6 330 &R 3-6-9 400M
# B 6 1204 6-9 270M B E 3-6 280 EE 6-3-9 1,920M
3 1004 3-9 170H B H 6-3 740M
9 1009

ABICOVWTRDTEEERROODE. TR LIV,



